90 890 932 A401

GREASE NIPPLES

C long
H ‘| Hydraulic grease nipples H1, | o f]
straight, 180°, acc. to DIN 71 412 sw ; e i
==L =

Hardened, galvanized, hexagon version

EEEEENN

15006 400 15006 15007 15007 050 15062 15000 15025 15008 15009 15010
M5x08-VZ-SK-SW7  M6x0,75-VZ-SK-SW 7 M6 x1-VZ-SK-SW7 M6 x 1-VZ-SK-SW 7-short  1/4" NF (SAE)-VZ-SK-SW 7 1/4" BSF-VZ-SK-SW 7 1/4"WHIT-VZ-SK-SW 7 M 7 x 1-VZ-SK-SW 9 M 8 x 1-VZ-SK-SW 9 M 8 x 1,25-VZ-SK-SW 9
A:15 B:55 A:15 B:55 A:15 B:55 A:13 B:35 A 15 B:55 A:15 B:55 A:15 B:55 A:15 B:55 A:15 B:55 A:15 B:55
A i .

k-

15069 15013 15014 15015 15037 15026 15067 15076 15016 15017
5/16"-BSF-VZ-SK-SW9 M 10 x 1-VZ-SK-SW 11 M 10x 1,25-VZ-SK-SW 11 M 10x 1,5-VZ-SK-SW 11 G 1/ 8"-VZ-SK-SW 11 1/8" NPT-VZ-SK-SW 11 3/8" WHIT-VZ-SK-SW 11 3/8" UNF-24F-VZ-SK- M 12X 1-VZ-SK-SW 14 M 12 x 1,5-VZ-SK-SW 14
A15 B:55 A15 B:55 A15 B:55 A15 B:55 A5 B:55 A15 B:55 A15 B:55 SW11/A:15 B:55 A17 B:65 A7 Bi65

ste
15018 15027 15021 15038 15023 15039 15040 15007 001 55062
M12x1,75-VZ-SK-SW 14 1/4"-NPT-VZ-SK-SW 14 M 14 x 1,5-VZ-SK-SW 14 G 1/4"-VZ-SK-SW 14~ M 16X 1,5-VZ-VK-SW 17 G 3/8"-VZ-SK-SW 17 G 1/2"-VZ-SK-SW 22 M6 x 1-VZ-SK- 1/4" WHIT-VZ-SK-
A:17 B:6,5 A:19 B:8 A 175 B:65 A:17,5 B:65 A:18 B:7 A 18 B:7 A:28 B:8 SW 7-long-29 mm SW 7-long-26 mm
. A A:29 B:8 C@:7 A:26 B:6
Stainless steel, hexagon version
i 5
k3
3
15906 15907 15909 15910 15913 15915 15937 15926 15917 15918
M 5 x 0,8-VA-SK-SW 7 M6 x 1-VA-SK-SW 7 M 8 x 1-VA-SK-SW 9 M8x 1,25-VA-SK-SW9 M 10x 1-VA-SK-SW 11 M 10 x 1,5-VA-SK-SW 11 G 1/8"-VA-SK-SW 11 1/8" NPT-VA-SK-SW 11 M 12x1,5-VA-SK-SW 14 M 12 x 1,75-VA-SK-SW 14
A 15 B:55 A:15 B:5,5 A:15 B:5,5 A:15 B:5,5 A 15 B:55 A:15 B:5,5 A:15 B:5,5 A:15 B:55 A175 B:65 A175 B:65

Hardened, galvanized, hexagon version, self-tapping thread

d 6 &

15938 15939 15071 15072 15073
G 1/4"-VA-SK-SW 14 G 3/8"-VA-SK-SW 17 F6x1-SFG-VZ-SK-SW 7 F 8x 1-SFG-VZ-SK-SW 9 F 10 x 1-SFG-VZ-SK-SW 11
A:175 B:65 A:18 B:7 A 15 B:55 A:15 B:5,5 A:15 B:5,5

Hardened, galvanized, drive fit version Stainless steel, drive fit version

$ § 8 &6

15001 15002 15003 15004 15005 15902 15903
@ 4 mm-VZ-round-ESN @ 5 mm-VZ-round-ESN @ 6 mm-VZ-round-ESN @ 8 mm-VZ-round-ESN @ 10 mm-VZ-round-ESN @ 6 mm-VA-round-ESN @ 8 mm-VA-round-ESN
A:15 B:55 @:8 A:15 B:55 2:8 A:15 B:55 @:8 A:15 B:55 @:10 A:15 B:55 @:12 A:144 B:58 @:8 A:149 B:6,5 @:8

HTA

H 2 Hydraulic grease nipples H2, 45°, acc. to DIN 71 412

Hardened, galvanized, hexagon version

§ 499697

15107 140 15108 15109 140 15110 140 15162003 15162 140 15100 140 15163 15113 140
M6 x 1-VZ-SK-SW 9 M7 x 1-VZ-SK-SW 9 M 8 x 1-VZ-SK-SW 9 M8x1,25-VZ-SK-SW 9  1/4"WHIT-VZ-SK-SW 9 1/4" NF (SAE)-VZ-SK-SW 9  1/4" BSF-VZ-SK-SW 9  5/16" NF (SAE)-VZ-SK-SW 9 M 10 x 1-VZ-SK-SW 11
A:235 B:55 C: 10,5 A:235 B:55 C105 A:235B:55 C 105 A: 23,5 B:55 C: 10,5 A:23,5 B:55 C: 105 A: 23,5 B:55 C: 10,5 A: 23,5 B:55 C: 10,5 A:23,5 B:55 C: 10,5 A:25 B:55 C:11,5

98 8ddd

15114 15115140 15137 140 15126 15164 15117 15118 15138 15127 15139
M10x1,25-VZ-SK-SW 11T M 10 x 1,5-VZ-SK-SW 11 G 1/8"-VZ-SK-SW 11 1/8"NPT-VZ-SK-SW 11 3/8"WHIT-VZ-SK-SW 11 M 12 x 1,5-VZ-SK-SW 14 M 12 x 1,75-VZ-SK-SW 14 G 1/4"-VZ-SK-SW 14 1/4" NPT-VZ-SK-SW 14 G 3/8"-VZ-SK-SW 17
A25 B:55 G115 A:25 B:55 G115 A25 B:55 G115 A27 B:7 G115 A:25 B:55 G115 A225 B:65 C12 A:22,5 B:65 C: 12 A:22,5 B:65 C: 12 A:225 B:65 C: 12 A255 B:7 C135

§ ¢

15940 15941 15942 15943 15945 15947 15949
M 6 x 1-VA-SK-SW 9 M 8 x 1-VA-SK-SW 9 M8x1,25VA-SK-SW9 M 10x 1-VA-SK-SW 11 M 10x 15-VA-SSK-SW 11 G 1/8"-VA-SK-SW 11 G 1/4"-VA-SK-SW 14
A:235 B:55 C: 105 A:23,5 B:55 C:10,5 A:235 B:55 C: 105 A:25 B:55 G115 A:235 B:55 C: 10,5 A:25 B:55 G115 A:225 B:65 C:12

Stainless steel, hexagon version

Hardened, galvanized, square version

[T ¥ w9 w w U

15107 15109 15110 15113 15115 15137 15162 15100
M 8 x 1-VZ-VK-SW 9 M8x125VZVK-SW9 M 10x 1-VZVK-SW 11 M 10x 1,5-VZVK-SW 11 G 1/8"-VZ-VK-SW 11 1/4" NF (SAE)-VZ-VK-SW 9 1/4" BSF-VZ-VK-SW 9
A25 B:55 G115

M6 x 1-VZ-VK-SW 9

A:235 B:55 C:105 A:235 B:55 C: 105 A:235 B55 C105 A:25 B:55 G115 A:25 B:55 G115 A:235 B:55 C105 A:235 B:55 C105

Hardened, galvanized, square version, self-tapping thread Hardened, galvanized, square version, drive fit version

rvvw

15171 15172 15173
F6x1-SFGVZVK-SW9  F8x1-SFG-VZVK-SW9  F 10 x 1-SFG-VZ-VK-SW 11
A:20,5 B:55 C:105 A:20,5 B:55 C:105 A:20,5 B:55 C:11

15102 15103 15104 15105
@5 mm-VZ-VK-ESN @6 mm-VZ-VK-ESN @8 mm-VZ-VK-ESN @10 mm-VZ-VK-ESN
A:202B:55C9D:9 A:202B:55C9D:9 A:202B:55C9D:9 A205B:55C11 D9

H 3 Hydraulic grease nipples H3, 90°, acc. to DIN 71 412

| C Hardened, galvanized, hexagon version

SwW ! A
1
I
——— gt 15207 140 15208 15209 140 15210140 15262140 15200 140 15213140
——— Y \ M6 x 1-VZ-SK-SW 9 M7 x 1-VZ-SK-SW 9 M8x1-VZSK-SW9  M8x125VZ-SK-SW9 1/4" NF (SAE)-VZ-SK-SW9  1/4" BSF-VZ-SK-SW9 M 10x 1-VZ-SK-SW 11
A18 B:55 C 13 A18 B:55 C:13 A 18 B:55 C13 A18 B:55 C13 A18 B:55 13 A 18 B:55 C:13 A:20 B:55 C 14
15214 15215 140 15237 140 15226 15217 15218 15238 15227 15239
M10x1,25VZ-SK-SW 11 M10x 15VZ-SKSW 11 G 1/8"-VZSKSW 11 1/8"NPTVZ-SK-SW 11 M 12x15VZ-SK-SW 14 M12x1,75VZ-SK-SW 14 G 1/4"VZ-SK-SW 14 1/4" NPTVZ-SK-SW 14 G 3/8"-VZ-SK-SW 17
A:20 B:55 C: 14 A:20 B:55 C: 14 A:20 B:55 C: 14 A:20 B:55 C: 14 A:22 B:65 C: 14 A:22 B:65 C:14 A:22 B:65 C:14 A:22 B:65 C14 A:20 B:7 C:19
Stainless steel, hexagon version
15967 15968 15970 15973 15975 15976 15977
M6 X 1-VA-SK-SW 9 M8x1-VASK-SW9  M8x125VA-SKSW9  M10x T-VA-SK-SW 11 MI10XT,5VASK-SW 11 G1/8'VASK-SW11 G 1/4"-VA-SK-SW 14
A:18 B:55 C:13 A:18 B:55 C 13 A:18 B:55 C:13 A:20 B:55 C 14 A:20 B:55 C: 14 A:20 B:55 C: 14 A:22 B:65 C: 16
c Hardened, galvanized, square version

g4 g L | EZ L
15207 15209 15210 15262 15200 15213 15215 15237
M6 X 1-VZ-VK-SW 9 M8XTVZVKSWO  M8x1,25VZVK-SW9  1/4" NF (SAE)VZ-VK-SW 9 1/4" BSFVZVK-SW9 M 10x 1VZVKSW 1T M 10x 15VZVKSW 11 G 1/8"VZ-VK-SW 11
A:18 B:55 C 14 A:18 B:55 C 14 A:18 B:55 C: 14 A:18 B:55 C 14 A:18 B:55 C 14 A:18 B:55 C: 15 A:18 B:55 C: 15 A:18 B:55 C: 15
Hardened, galvanized, square version, self-tapping thread D Hardened, galvanized, square version, drive fit version
:<—>
I
. " "
I
| s E— 3 I's =
”:””’ '-r- | '-r- |
c : s k]
= el A w w
|
A
15271 15272 15273 l B
15203 15204 15205
_ \/7\/K- _ \/7\/K- _ \/7\/K- . Y Y
Fo XA1 %FGBi\gZé/_KW iW 9 F8 XA1 WSBFGB_YSZ& iw 9 F10 XA1 %FGB_\gzgﬁ iw n ‘ @ 6 mMVZVKESN @8 MMVZVKESN @10 mm-VZ-VK-ESN
: . . : . . : : . A18 B:55 C9D: 141 A18 B:55C9D:9 A18B:55 C11D:15

PRESSOL Schmiergerdate GmbH - Am Gansacker 10 C - D-79224 Umkirch
Tel.: +49 7665 9346-000 - Fax: +49 7665 9346-120
E-Mail: info@pressol.com

www.pressol.com

Ball type w [
grease nipples K1 § A

Galvanized, hexagon version

G0 ¢GG

Galvanized, hexagon version, drive fit version

¢ & &

15307 15309 15310 15313 15315 15302 15303 15304
M 6 x 1-VZ-SK-SW 7 M 8 x 1-VZ-SK-SW 9 M8x1,25-VZ-SK-SW9 M 10x 1-VZ-SK-SW 11 M 10x 1,5-VZ-SK-SW 11 @ 5 mm-VZ-round-ESN @ 6 mm-VZ-round-ESN @ 8 mm-VZ-round-ESN
A 14 B:55 A:14 B:55 A:14 B:55 A 14 B:55 A:16 B:7 A:12 B:5 C:8 A:12 B:6 C:8 A:14 B:6 C:8

D ‘| Funnel type grease nipples D1, acc. to DIN 3405

TR TR R TRTAT

Galvanized, hexagon version

swW |
f‘/] ‘A

_j: 15607 15609 15610 15613 15615 15637 15638 15639
T M 6 x 1-VZ-SK-SW 7 M 8 x 1-VZ-SK-SW 9 M8x1,25-VZ-SK-SW 9 M 10x 1-VZ-SK-SW 11 M 10x 1,5-VZ-SK-SW 11 G 1/8"-VZ-SK-SW 11 G 1/4"-VZ-SK-SW 14 G 3/8"-VZ-SK-SW 17
A:9 B:6 A:9,5 B:6,5 A:95 B:6,5 A:95 B:6,5 A:95 B:6,5 A:95 B:6,5 A: 14 B:95 A: 14,5 B:9

Brass, hexagon version

56 307 56 309 56310 56313 56315 56 337 56 338
M 6 x 1-Me-SK-SW 8 M8x 1-Me-SK-SW9 M 8x1,25-Me-SK-SW9 M 10x 1-Me-SK-SW 11 M 10x 1,5-Me-SK-SW 11 G 1/8"-Me-SK-SW 11 G 1/4"-Me-SK-SW 11
A9 B:6 A:95 B:6,5 A: 9,5 B:6,5 A:95 B:6,5 A:95 B:6,5 A:95 B:6,5 A: 14 B:9,5

Galvanized, drive fit version

D1A

= “ “ ﬁ 9 g

C
, 15601 15602 15603 15604 15605
SO LT | Y 4/5-@ 4-K@ 5-VZ-round-ESN 5/8-@ 5-K@ 8-VZ-round-ESN 6/8-0 6-K@ 8-VZ-round-ESN  8/10-@ 8-K@ 10-VZ-round-ESN  10/12-@ 10-K@ 12-VZ-round-ESN
\"' A6 B:45 &5 A75 B:55 @:8 A:75B:55 @:8 A:95 B:65 @:10 A:95 B:65 @:12
i B ' A
: o Brass, drive fit version
56 501 56 502 56503 56 504 56 505 56 506
4/5-@ 4-K@ 5-Me-round-ESN 5/8-@ 5-K@ 8-Me-round-ESN 6/8-@ 6-K@ 8-Me-round-ESN 8/10-@ 8-K@ 10-Me-round-ESN  10/12-@ 10-K@ 12-Me-round-ESN  12/14-0 12-K@ 14-Me-round-ESN
A6 B:45 @:5 A:75 B:55 @:8 A:75 B:55 @:8 A:95 B:65 @:10 A:95 B:65 @:12 A:11 B:8 @:14
H o
D : ! Funnel type grease nipples D2, angeled 45°, acc. to DIN 3405
Galvanized, hexagon version
15707 15709 15710 15713 15715 15737 15738 15739
A M6 x 1-VZ-SK-SW 11 M8x 1-VZ-SK-SW 11 M 8x 1,25-VZ-SK-SW 11 M 10x 1-VZ-SK-SW 11 M 10 x 1,5-VZ-SK-SW 11 G 1/8"VZ-SK-SW 11 G 1/4"-VZ-SK-SW 14 G 3/8"-VZ-SK-SW 17
A:16 B:5,5 A: 16 B:5,5 A:16 B:5,5 A:15 B:5,5 A: 15 B:5,5 A: 15 B:5,5 A:18 B:6,5 A:22 B:9
) Brass, hexagon version

56707 56 709 56710 56713 56715 56737 56738
M6 x 1-Me-SK-SW 11 M8x 1-Me-SK-SW 11 M 8x 1,25-Me-SK-SW 11 M 10x 1-Me-SK-SW 11 M 10x 1,5-Me-SK-SW 11 G 1/8"-Me-SK-SW 11 G 1/4"-Me-SK-SW 11
A:16 B:5,5 A:16 B:55 A:16 B:55 A:15 B:5,5 A:15 B:5,5 A:15 B:55 A:18 B:6,5

Funnel type grease nipples D3, angeled 90°, acc. to DIN 3405

Galvanized, hexagon version

2 @ @

— w W W 8

T 9

o \
120°-(- - - )__l___ - A 15807 15 809 15810 15813 15815 15837 15838 15839
6 x 1-VZ-SK-SW 11 8 x 1-VZ-SK-SW 11 8x1,25-VZ-SK-SW 11 M 10x 1-VZ-SK-SW 11 M 10 1,5-VZ-SK-SW 11 1/8"VZ-SK-SW 11 1/4"VZ-SK-SW 14 3/8"-VZ-SK-SW 17
’ : M VZ-SK-SW M VZ-SK-SW M VZ-SK-SW M \/Z-SK-SW M VZ-SK-SW G 1/8"-VZ-SK-SW G 1/4"VZ-SK-SW G 3/8"-VZ-SK-SW
’/o 1 A: 18 B:5,5 A: 18 B:5,5 A:18 B:5,5 A: 18 B:5,5 A: 18 B:5,5 A:18 B:5,5 A:20 B:6,5 A:25 B:9
1
/
——] A
sW . =— i
y — 1 B Brass, hexagon version
——] Y ' 9

56 907 56 909 56 910 56913 56 915 56 937 56938
M6 x 1-Me-SK-SW 11 M8x 1-Me-SK-SW 11 M 8x 1,25-Me-SK-SW 11 M 10x 1-Me-SK-SW 11 M 10x 1,5-Me-SK-SW 11 G 1/8"-Me-SK-SW 11 G 1/4"-Me-SK-SW 17
A: 18 B:5,5 A: 18 B:5,5 A: 18 B:5,5 A:18 B:5,5 A: 18 B:5,5 A:18 B:5,5 A:20 B:6,5

M '| Button head grease nipples M1, diameter of head 16 mm, acc. to DIN 3404

Galvanized, hexagon version, round head

-y

j A
—— 57 807 57 809 57810 57813 57815 57817 57818 57823
—— B 1 M6 x 1-VZ-SK- M 8x1-VZ-SK- M8x1,25-VZ-SK- M10x1-VZ-SK- M10x1,5-VZ-SK- M12x1,5-VZ-SK- M12x1,75-VZ-SK- M 16 x 1,5-VZ-SK-
——— SW 17-RK SW17-RK SW17-RK SW17-RK SW17-RK SW17-RK SW 17-RK SW 17-RK

! A17 B:6 C:16 A:17 B:6 C:16 A:17 B:6 C:16 A:17 B6 C:16 A 17 B:6 C: 16 A 17 B:6 C: 16 A:17 B:6 C:16 A 18 B:7 C: 16
Stainless steel, hexagon version, round head
57837 57838 55907 55909 55910 55913 55915 55918 55937 55938
G 1/8"-VZ-SK- G 1/4"-VZ-5K- M 6 x 1-VA-SK- M 8 x 1-VA-SK- M 8 x 1,25-VA-SK- M 10 x 1-VA-SK- M 10X 1,5-VA-SK- M 12 X 1,75-VA-SK- G 1/8"-VA-SK- G 1/4"-VA-SK-
SW 17-RK SW 17-RK SW 17-RK SW 17-RK SW 17-RK SW 17-RK SW 17-RK SW 17-RK SW 17-RK SW 17-RK
A:17 B:6 C:16 A:17 B:6 C:16 A:17 B:6 C: 16 A:17 B:6 C: 16 A:17 B:6 C: 16 A:17 B:6 C: 16 A:17 B:6 C: 16 A:17 B:6 C:16 A:17 B:6 C:16 A:17 B:6 C: 16
1 Button head grease nipples M4, Button head grease nipples M22,
diameter of head 10 mm, acc. to DIN 3404 2 2 diameter of head 22 mm, acc. to DIN 3404
Galvanized, hexagon version, round head Galvanized, hexagon version, round head
57 607 57 609 57610 57613 57637 57523 57538 57539 57522
M6 x 1-VZ-SK- M 8 x 1-VZ-SK- M 8 x 1,25-VZ-SK- M 10 X 1-VZ-SK- G 1/8'-VZ-5K- M 16 x 1,5-VZ-SK- G 1/4"-VZ-SK- G 3/8"-VZ-5K- M 16 X 1,5-VZ-SK-
SW T1-RK SW 11-RK SW 11-RK SW T1-RK SW 11-RK SW 22-RK SW 22-RK SW 22-RK SW 22-RK-STV
A:135 B:6 C: 10 A:135 B:6 C: 10 A:135 B:6 C: 10 A 135 B:6 C: 10 A:135 B:6 C:10 A:21,5 B:8 C:22 A:215 B:8 C:22 A:215 B:8 C:22 A32 B:12 C:22

T ‘|/B Button head grease nipples T1/B, diameter of head 16 mm

Galvanized, hexagon version, hexagon head

TT P88

o

] A 55807 55809 55810 55813 55815 55817 55837 55838
—— M 6 x 1-VZ-SK- M 8 x 1-VZ-SK- M8x1,25VZ- M 10 x 1-VZ-SK- M 10 1,5-VZ-SK- M 12 x 1,5-VZ-SK- G 1/8"-VZ-SK- G 1/4"VZ-SK-
g B SW 15-SKK SW 15-SKK SK-SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK
: A:16 B:6 C: 16,5 A 16 B:6 C:16,5 A:16 B:6 C:16,5 A:16 B:6 C:16,5 A 16 B:6 C: 16,5 A:16 B:6 C:16,5 A:16 B:6 C:16,5 A:16 B:6 C: 16,5
Brass, hexagon version, hexagon head
55707 55709 55710 55713 55715 55716 55717 55718 55721 55722
M 6 x 1-Me-SK- M 8 x 1-Me-SK- M 8x 1,25-Me-SK- M 10 x 1-Me-SK- M 10 x 1,5-Me-SK- M 12 x 1-Me-SK- M12x1,5-Me-SK- M 12 x1,75-Me-SK- M 14x1,5-Me-SK- M 14 x 2-Me-SK-
SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK
A 16 B:6 C: 16,5 A 16 B:6 C:16,5 A:16 B:6 C:16,5 A:16 B:6 C: 16,5 A 16 B:6 C: 16,5 A:16 B:6 C:16,5 A:16 B:6 C:16,5 A 16 B:6 C: 16,5 A 16 B:6 C:16,5 A:16 B:6 C:16,5
Brass, stainless steel ball, hexagon version, hexagon head
55737 55738 55739 57907 57910 57913 57915 57918 57937
G 1/8"-Me-SK- G 1/4"-Me-SK- G 3/8"-Me-SK- M6x 1-Me-VASK-  M8x125Me-VASK-  M10x1-Me-VA-SK-  M10x15-Me-VA-SK-  M12x1,5-Me-VA-SK- G 1/8"-Me-VA-SK-
SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-5KK SW 15-SKK SW 15-SKK SW 15-SKK SW 15-SKK
A16 B:6 C:165 A 16 B:6 C:16,5 A:16 B:6 C:165 A:16 B:6 C:165 A16 B:6 C:16,5 A 16 B:6 C:16,5 A:16 B:6 C:16,5 A:16 B:6 C:165 A16 B:6 C:165

Grease nipples, blister packed

Hydraulic grease nipples H1, H1 A, straight, 180°, 25 pcs. in polybag

S - n ., - "’”-
w__ L. L
b2 e = T ko
16 007 16 009 16010 16013 16015 16 037 16038
M 6 x 1-VZ-SK-SW 7 M 8 x 1-VZ-SK-SW 9 M8 x 1,25-VZ-SK M 10 x 1-VZ-SK M10x 1,5-VZ-SK G 1/8"-VZ-SK-SW 11 G 1/4"-VZ-SK-SW 14
25 pieces 25 pieces SW 9-25 pieces SW 11-25 pieces SW11-25 pieces 25 pieces 25 pieces

Hydraulic grease nipples H2, H2 A, 45°, 25 pcs. in polybag

.-;u-.f

oy

16107 16 109 16110 16113 16115 16137 16138
M6 x 1-VZ-VK-SW 9 M 8 x 1-VZ-VK-SW 9 M8 x 1,25-VZ-VK M 10 x 1-VZ-VK M 10 x 1,5-VZ-VK G 1/8"-VZ-VK-SW 11 G 1/4"-VZ-SK-SW 14
25 pieces 25 pieces SW 9-25 pieces SW 11-25 pieces SW11-25 pieces 25 pieces 25 pieces

Hydraulic grease nipples H3, H3 A, 90°, 25 pcs. in polybag

—
-_

= = woo= .
- -
2 - =
16 207 16 209 16 211 16213 16 215 16 237 16 238
M6 x 1-VZ-VK-SW 9 M 8 x 1-VZ-VK-SW 9 M8 x 1,25-VZ-VK M10x 1-VZ-VK M10x 1,5-VZ-VK G 1/8"-VZ-VK-SW 11 G 1/4"-VZ-SK-SW 14
25 pieces 25 pieces SW 9-25 pieces SW 11-25 pieces SW11-25 pieces 25 pieces 25 pieces
Button head grease nipples M1, diameter of head 16 mm, 25 pcs. in polybag
16 809 16813 16 837
M 8 x 1-VZ-SK-SW17-RK M 10 x 1-VZ-SK G 1/8"-VZ-SK
25 pieces SW17-RK-25 pieces SW 17-RK-25 pieces
Hydraulic grease nipples H1, straight, 180°, 10 pcs. in polybag with headcard
EE= = ey "] e ==
L] 3 I [
i ¥ L] ! ) i
16 400 16 402 16403 16 404 16 405 16 409
M6 x 1-VZ-SK M 8 x 1-VZ-SK M8x1,25-VZ-SK M 10 x 1-VZ-SK M10x 1,5-VZ-SK G 1/8"-VZ-SK-SW 11
SW 7-10 pieces SW 9-10 pieces SW 9-10 pieces SW 11-10 pieces SW11-10 pieces 10 pieces
Hydraulic grease nipples H2, 45°, 5 pcs. in polybag with headcard
s —= | == [ | "] SO Ip—
- - -— - - -
) i L i & &
16430 16432 16433 16434 16 435 16439
M 6 x 1-VZ-SK-SW 9 M 8 x 1-VZ-SK-SW 9 M8x1,25VZ-SK-SW9 M 10x 1-VZ-SK-SW 11 M 10x 1,5-VZ-SK-SW 11 G 1/8"-VZ-SK-SW 11
5 pieces 5 pieces 5 pieces 5 pieces 5 pieces 5 pieces

Hydraulic grease nipples H3, 90°, 5 pcs. in polybag with headcard

—_—— -_—— _— -_—— —_—— —_—
o 7{» ‘ E [ E e
. : %.. %.. ﬁ
o, '?p 'g '
16 460 16 462 16 463 16 464 16 465 16 469
M 6 x 1-VZ-SK-SW 9 M 8 x 1-VZ-SK-SW 9 M8x1,25VZ-SK-SW9  M10x 1-VZ-SK-SW 11 M 10x 15-VZSK-SW 11 G 1/8"-VZ-SK-SW 11
5 pieces 5 pieces 5 pieces 5 pieces 5 pieces 5 pieces

Hydraulic grease nipples H1, straight, 180°, H2, 45°, H3, 90°, 5 pcs. each in polybag with headcard

I

16 062
1/4" NF(SAE)-VZ-SK
SW7-25 pieces

16103
@6 mm-VZ-ESN
25 pieces

PRESSOL

i

I

16 003
@6 mm-VZ-ESN
25 pieces

16 104
@ 8 mm-VZ-ESN
25 pieces

16 004
@8 mm-VZ-ESN
25 pieces

16 203 16 204
@ 6 mm-VZ-ESN @8 mm-VZ-ESN
25 pieces 25 pieces
25 x (Gressou)
Mo, 16 00T
Hi.MEx1

INMIRALY

- v

== == —— e
i i i .
=& P B g
16476 16478 16 480 16 482
M6 x 1-VZ-SK/NVK-SW 9 M 8 x 1-VZ-SKVK-SW 9 M 10 x 1-VZ-SK/VK-SW 9 G 1/8"-VZ-SK/VK-SW 9
5 pcs.ea 5pcs.ea 5 pcs.ea 5 pcs.ea

Universal couplers Universal coupler Pointed couplers

' i
12002 12072 12071 12003 12073
M 10x1 i G1/8"i M10x1i M10x 1i-for funnel G 1/8" - for funnel

for H-and K-nipples for H-and K-nipples for push type grease guns type grease nipples type grease nipples

‘1‘
- [ (]

Precision machined couplers Hydraulic couplers

] {ﬂl’ﬁ
][5 [Z]

B
L S
12626 12726 12643 12743 12631 12731
M 10 x 1 f-SK G 1/8"if-SK M10x1i G1/8"i M10x 1i G1/8"i

slim version-@ 13 mm  slim version-@ 13 mm SF-@ 15 mm SF-@ 15 mm SF-@ 15 mm SF-@ 15 mm

Button head couplers

@9 ;

12060 12060 125 12061 12061125 12062 12062 125 12063 12063 125 12010401
Me-M 10x T Me-G 1/8" i Me-M 10x 11 Me-G 1/8"i Me-M 10x T Me-G 1/8"i Me-M 10x 11 Me-G 1/8"i M 10x 1i-DG
M- and T-nipples M- and T-nipples SOT-M- and T-nipples SOT-M- and T-nipples FA-M- and T-nipples FA-M- and T-nipples M- and T-nipples M-and T-nipples FA-M- and T-nipples
10 mm 10 mm 16 mm 16 mm 16 mm 16 mm 22 mm 22 mm 16 mm
L]
Miscellaneous

Protecting caps for hydraulic grease nipples Grease nipple assortments

63905 63 906 16 090 16 092 16 099
with fixing tab without fixing tab 140 pieces 70 pieces 387 pieces
L 215 mm, B 135 mm, L 175 mm, B 120 mm, L 300 mm, B 245 mm,
H 40 mm H35mm H55mm

List of abbreviations

BSF British Standard Fine/Whitworth thread, quality: fine
DG Rotating swivel
ESN Drive fit nipple
FA Flat design
Me Brass
NPT National Taper Pipe, non-sealing
pressure-resistant tapered pipe thread
PTF Pipe Taper Fuel and Qil, sealing
pressure-resistant tapered pipe thread
RK Round head
SAE Division of viscosity classes for automotive lubricants
by Society of Automotive Engineers
SF Mounting area for wrenches
SFG Self-tapping thread
SK Hexagon
SKK Hexagon head
SOT Slide-on type
STV Valve extension
SW Key width
VA Stainless steel
VK Square
vz Galvanized
WHIT  Whitworth thread

Tools for grease nipples

16 100
For thread cutting
1/8" PTF
H1-H2-H3-K1-K2-K3

16 102
For thread cutting
1/4" (SAE)
H1-H2-H3-K1-K2-K3

www.pressol.com




